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Introduction to Sequences & Arithmetic Sequences Day 1
A nee is an ordered set of numbers or other items, Each number in the
sequence is called a ‘i"e( wm . For example, in the sequence 4, 7, 10, 13, 16, _., the second term
is 7. A sequence can be \(\Q.m i (without end) or ‘(\';ﬂl -\-P (limited

number of terms). Each term in the sequence can be paired with a position number, and these pairings

establish a "QU-“C:" (o whose domain is the set of position numbers and whose range is the set of

termse, as shown below. The position numbers are consecutive integers that typically start ot either

Dorl .

Position number n |[1[2] 3| 4|5

Termof sequence | f{n) (4| 7| 10|13 | 16

For this sequence, we write f{4) = 13. which can be interpreted as "the fourth ferm of the sequence is 13."
4,7,10, 13, 16 .. Can you find a pattern?
+3
In this sequence, each term is é Mo than the previous term.

This is an Oc.‘“\m“‘i C Soelnce because successive terms

differ by the same number, called the commendifference (d and d =0).
3 is called the_COMMDN diSference @ d= a, —a,
4 is called the \i Yerm (a2)
7 is called the O~ Yecm (az)

N
16 iz called the 5 Yerm (ag
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Now, we'll find a formula (rule) for the n™ term (a,,

¥ term:

2™ term:
3 term:
4™ tepme
B tepm:

n™ term:

o= "”1'3(0:) = 4
as = 41‘30) =7
w413 .
w4 E3(3)
4+ -6

- 3n3
4+ 3(0-1) er ‘-\3“:\\
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In Function Motation:

£n) = £0) +4(n-1)

L Isthe sequence arithmetic? Tf so, find d. an n™ term formula (o) and the next three terms,

a 19, 12,05, -02 -09.

b. 3/4,3/8,3/16,3/32,3/64..
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0= A tdln-) 3 V7 it ontlintic

WEAKEN TGS

C\

Qs

= 1.9 ~1(b- \%= o
= 5=
1a-(8-1H=-3

_-13

ot e &

saguancd



U11D1 IntroToSequences&ArithmSeq.notebook March 14, 2019

The previous examples used anE )Q,P | ! C;I‘t' F(-)rm[é (g which defines the nth term of a sequence as a
function of n. Sequences can also be described by using a &Q c\ g§'| Ve Form Q&LQ

which defines the nth term of a sequence as a function of one or more previous terms. Onthe previous

page. we wrote the explicit formula f[n} 4 + 3(n-1) for the arithmetic sequence 4, 7, 10, 13, 16 .

e = Y43(n-
Use the 'Fallmg\"ecur'swe formula 'h:r 'Fmd the first 4 terms of the same arithmetic sequence.
SNV el
f(n) = f(n-1) + 3 with (1) = 4
1y =4 f2)= HO) T3 (3) = -Gh.\ '\-3 f(4) = +{3) +3
=413 =7+ =10 +3

=7 = ID =\3



U11D1 IntroToSequences&ArithmSeq.notebook March 14, 2019

2. Find an explicit and recursive formula rule for the n™ term (a,). Then find the next term with your
recursive formula, A= -.05

-1
o. 02,015 01 005 9. b 4/35/3,273,853.. A=3

1 meavalnd g onmatd(n)
Gn = q.9.-. 05(“"0 An = i3 4 %(h‘l)
‘a‘;d‘" %‘;‘5‘4‘5‘
R 0= Gacy —-0S R:\an :g _\j
Q\'—_ q‘a' & = 3
a,= G505 Q C{S‘f'\g
@, =~ 4 —.0S5 =8 L4 _a _
LD CRERERENE
4, 395
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R :hzgz*;;el;mlaf jihe ﬂmzmihfs?equﬁm Pyng e Ffmu.flfﬂ? 534 A7 >~
Ga= a\+d(n—)> Q.= G, +d (n-1)
G =32 -7(n-1) 0= ~9+a(n-1)
G, =327 (2-1) 0= -4 +3(n1)=ar32§3
a4, = 3A-=77
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4, Find the 6™ term of the arithmetic sequence using the given terms and a formula, Dade=kst.

a. 5= 4and o, - 14 4 =3¢(_’_°;§_ b. a3 = 205 and a5 = 13
= 3 "= = -f—50{'
@ qi/ 49 T QS’ q3
4 = -4 +3d (2=a05 +5d
L 1235
= .5 =
Qs = 4, + q, = a5 +3d
-4 = g,, :i‘o) a, =a0.5 + 3(-. 5)
’:\:‘ ” .
—’b _-ab a‘l
I
0 > q{’ - qg _&d
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